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One of something is singular, several of something is plural. 
e.g. a cloud, several clouds 
Add an s to the singular to make plurals of all these words. The first one 
has been done for you. 

I like to eat an apple.    
The tree has lots of apples on it. 

At the end of my right arm I have a h _ _ _ . 
Altogether I have two h  _ _ _ _ . 

A table has more than one l  _ _ . 
A spider has eight l  _ _ _ . 

Everest is a m  _ _ _ _ _ _ _ . 
There are lots of m  _ _ _ _ _ _ _ _   in a range. 

I am reading an exciting b  _ _ _ . 
There are lots of b  _ _ _ _   in a library. 

I saw a wonderful p  _ _ _ _ _ _ _   by the artist. 
There are many more p  _ _ _ _ _ _ _ _   in the gallery. 

I use one golf c  _ _ _   for each shot. 
I have lots of golf c  _ _ _ _   in my bag. 

We have one kitchen t  _ _ _ _ . 
There are lots of t  _ _ _ _ _   at my school. 

I made myself a c  _ _   of coffee. 
The team wanted several c  _ _ _   of coffee. 

I found one n  _ _   under the hazelnut tree. 
The squirrels had eaten all the other n  _ _ _ . 
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At the end of my right arm I have a hand. 
Altogether I have two hands. 

A table has more than one leg. 
A spider has eight legs. 

Everest is a mountain. 
There are lots of mountains in a range. 
I am reading an exciting book. 
There are lots of books in the library. 

I saw a wonderful painting by the artist. 
There are more paintings in the gallery. 

I use one golf club for each shot. 
I have lots of golf clubs in my bag. 

We have one kitchen table. 
There are lots of tables at my school. 

I made myself a cup of coffee. 
The team wanted several cups of coffee. 
I found one nut under the hazelnut tree. 
The squirrels had eaten all the other nuts. 
 


